
5.01.3 ,4.01.3 ,3.01.3 ,7.2 eluR  

B3 xidneppA  
 

,tnemecnuonna eussi weN  
seitiruces lanoitidda fo noitatouq rof noitacilppa  

tnemeerga dna  
 

 tsum won elbaliava ton stnemucod ro noitamrofnI  dna noitamrofnI  .elbaliava sa noos sa XSA ot nevig eb
.cilbup edam eb yam dna ytreporp s’XSA emoceb XSA ot nevig stnemucod  

 decudortnI 0 /1 0  dednemA  5 xidneppA :nigirO  69/7 0 /1 0  ,89/7 0 /1 0  ,99/9 0 /1 0 /03 ,00/7 0 10/9 /11 , 0  ,20/3 0 /1 0 30/1  , 42 50/01/  , 80/10 21/  
 

maN ytitne fo e  

muinarU detinU  detimiL   

 
NBA  

099 029 321 03  
 

.noitamrofni gniwollof eht XSA evig )ytitne eht( eW  
 

 1 traP - seussi llA  
.)ecaps hguone ton si ereht fi steehs hcatta( snoitces tnaveler eht etelpmoc tsum uoY  

 
1 +  fo ssalC +  ro deussi seitiruces deussi eb ot  serahS yranidrO  

 
   
2  fo  rebmuN +  deussi eb ot ro deussi seitiruces

 eb yam hcihw rebmun mumixam ro )nwonk fi(
deussi  

000,005,7  tsop a no( -  sisab noitadilosnoc –  eht ot refer
 latipac erahs deussi s’ynapmoc eht fo noitadilosnoc

 )4102 rebmetpeS 51 no sredloherahs yb devorppa  
   
3  eht fo smret lapicnirP +  fi ,ge( seitiruces

 fi ;etad yripxe dna ecirp esicrexe ,snoitpo
 diap yltrap +  tnuoma eht ,seitiruces

 fi ;tnemyap rof setad eud dna gnidnatstuo
+  ecirp noisrevnoc eht ,seitiruces elbitrevnoc

)noisrevnoc rof setad dna  

diaP ylluF  
 

   
4  eht oD +  stcepser lla ni yllauqe knar seitiruces

 na htiw tnemtolla fo etad eht morf  gnitsixe
+ ssalc   detouq fo + ?seitiruces  
 

 ,yllauqe knar ton od seitiruces lanoitidda eht fI
:etats esaelp  

 od yeht hcihw morf etad eht  
  eht rof etapicitrap yeht hcihw ot tnetxe eht

 ,tsurt a fo esac eht ni( ,dnedivid txen
tnemyap tseretni ro )noitubirtsid  

  hcihw ot tnetxe eht  knar ton od yeht
 txen eht ot noitaler ni naht rehto ,yllauqe

tnemyap tseretni ro noitubirtsid ,dnedivid  

seY  
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5 noitaredisnoc ro ecirp eussI  

 
.0$ 02  

 
   
6 eussi eht fo esopruP  

 ,stessa fo noitisiuqca eht rof noitaredisnoc sa deussi fI(
 ylraelc )stessa esoht yfitnedi  

 

era serahs esehT  eb ot   eht ot tnausrup deussi  latipac
 s’ynapmoC eht ni deniatnoc reffo gnisiar  sutcepsorP

 detad  51 .4102 rebmetpeS  
 

   
a6   na ytitne eht sI +  deniatbo sah taht ytitne elbigile

 elur rednu lavorppa redloh ytiruces ?A1.7  
 

 b6 snoitces etelpmoc ,seY fI –  h6  eht ot noitaler ni
+ B3 xidneppA siht fo tcejbus eht seitiruces  dna ,

i6 noitces htiw ylpmoc  

seY  

   
6b  elur rednu noituloser redloh ytiruces eht etad ehT

dessap saw A1.7  
4102 rebmetpeS 51  

   
c6   fo rebmuN +  redloh ytiruces tuohtiw deussi seitiruces

1.7 elur rednu lavorppa  
liN  

   
6d  fo rebmuN +  redloh ytiruces htiw deussi seitiruces

A1.7 elur rednu lavorppa  
liN  

   
e6   fo rebmuN +  redloh ytiruces htiw deussi seitiruces

 rehtona ro ,3.7 elur rednu lavorppa  ytiruces cificeps
)gniteem fo etad yficeps( lavorppa redloh  

 

000,005,7  serahs yranidro  tsop a no( - )sisab noitadilosnoc  
 

 lavorppa redloherahS  saw  no deniatbo rebmetpeS 51  
4102  

 
   

f6   ni noitpecxe na rednu deussi seitiruces fo rebmuN
2.7 elur  

liN  

   
g6   ta ecirp eussi saw ,A1.7 elur rednu deussi seitiruces fI

 elur rednu detaluclac sa PAWV yad 51 fo %57 tsael
.seulav htob dna etad eussi eht edulcnI  ?3.A1.7   

.noitaluclac PAWV eht fo ecruos eht edulcnI  

elbacilppa toN  

   
h6   deussi erew seitiruces fI non rof A1.7 elur rednu -  hsac

 fo noitaulav hcihw no etad etats ,noitaredisnoc
 tekraM XSA ot desaeler saw noitaredisnoc

stnemecnuonnA  

elbacilppa toN  

   
i6   rednu yticapac eussi gniniamer s’ytitne eht etaluclaC

 A1.7 elur dna 1.7 elur –  1 eruxennA etelpmoc  dna
stnemecnuonnA tekraM XSA ot esaeler  

 1.7 eluR – 572,030,4  
 A1.7 eluR – 058,686,2  

tsop a no htob( - )sisab noitadilosnoc  
   

7  gniretne fo setaD +  detacifitrecnu otni seitiruces
setacifitrec fo hctapsed ro sgnidloh  

 tuoba ro nO rebmevoN 4  4102  



   
 
 

  rebmuN  + ssalC  
8  dna rebmuN +  lla fo ssalc +  no detouq seitiruces

( XSA gnidulcni   ni seitiruces eht  noitces  fi 2
)elbacilppa  

994,868,62  
 

serahS yranidrO diaP ylluF  
tsop a no( - )sisab noitadilosnoc  

 
 

  rebmuN  + ssalC  
9  dna rebmuN +  lla fo ssalc +  ton seitiruces

( XSA no detouq gnidulcni   ni seitiruces eht
)elbacilppa fi 2 noitces  

 
 
 

 
 
 

   
01   ,tsurt a fo esac eht ni( ycilop dnediviD

 latipac desaercni eht no )ycilop noitubirtsid
)stseretni(  

elbacilppa toN  

 

 2 traP - eussi atar orp ro eussi sunoB  
 

11   ytiruces sI ?deriuqer lavorppa redloh  
 

elbacilppa toN  

   
21  non ro elbaecnuoner eussi eht sI -

?elbaecnuoner  
elbacilppa toN  

   
31   eht hcihw ni oitaR +  eb lliw seitiruces

dereffo  
elbacilppa toN  

   
41  +  fo ssalC +  reffo eht hcihw ot seitiruces

setaler  
elbacilppa toN  

   
51  + stnemeltitne enimreted ot etad droceR  elbacilppa toN  

   
61   ro( sretsiger tnereffid no sgnidloh lliW

 rof detagergga eb )sretsigerbus
?stnemeltitne gnitaluclac  

elbacilppa toN  

   
71   ni stnemeltitne gnidiced rof yciloP

snoitcarf ot noitaler  
 

 toN elbacilppa  

   
81   ytitne eht hcihw ni seirtnuoc fo semaN

 sah +  eb ton lliw ohw sredloh ytiruces
stnemucod eussi wen tnes  

 rieht woh dlot eb tsum sredloh ytiruceS :etoN
.htiw tlaed eb ot era stnemeltitne  

.7.7 elur :ecnerefer ssorC  

elbacilppa toN  

   
91   ro secnatpecca fo tpiecer rof etad gnisolC

snoitaicnuner  
elbacilppa toN  
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02  sretirwrednu yna fo semaN  

 
elbacilppa toN  

   
21 noissimmoc ro eef gnitirwrednu yna fo tnuomA  elbacilppa toN  
   
22  eussi eht ot srekorb yna fo semaN  elbacilppa toN  

   
32   eht ot rekorb eht ot elbayap noissimmoc ro eeF

eussi  
elbacilppa toN  

   
42   srekorb ot elbayap eef gnildnah yna fo tnuomA

 no snoitaicnuner ro secnatpecca egdol ohw
 fo flaheb + sredloh ytiruces  

elbacilppa toN  

   
52   no tnegnitnoc si eussi eht fI +  ’sredloh ytiruces

gniteem eht fo etad eht ,lavorppa  
elbacilppa toN  

   
62   dna mrof ecnatpecca dna tnemeltitne etaD

 lliw tnemetatS erusolcsiD tcudorP ro sutcepsorp
deltitne snosrep ot tnes eb  

elbacilppa toN  

   
72  eht dna ,snoitpo deussi sah ytitne eht fI   smret

 ,esicrexe no etapicitrap ot sredloh noitpo eltitne
 noitpo ot tnes eb lliw seciton hcihw no etad eht

sredloh  

elbacilppa toN  

   
82  )elbacilppa fi( nigeb lliw gnidart sthgir etaD  elbacilppa toN  

   
92  )elbacilppa fi( dne lliw gnidart sthgir etaD  toN  elbacilppa  
   
03   od woH +  stnemeltitne rieht lles sredloh ytiruces

lluf ni  ?rekorb a hguorht  
elbacilppa toN  

 
     13   od woH +  lles sredloh ytiruces trap   rieht fo

 rof tpecca dna rekorb a hguorht stnemeltitne
?ecnalab eht  

elbacilppa toN  

   
    23   od woH +  rieht fo esopsid sredloh ytiruces

?)rekorb a hguorht elas yb tpecxe( stnemeltitne  
elbacilppa toN  

   
    33  + etad hctapseD  elbacilppa toN  

 
 
 
 
 
 
 
 



 

 3 traP - seitiruces fo noitatouQ  
 fo noitatouq rof gniylppa era uoy fi noitces siht etelpmoc ylno deen uoY seitiruces  

 
43   seitiruces fo epyT  

( eno kcit ) 
 

)a(  
 

1 traP ni debircsed seitiruceS  

   
 

)b(   seitiruces rehto llA  
 ,diap ylluf emoceb taht seitiruces diap yltrap ,doirep deworcse eht fo dne eht ta seitiruces detcirtser :elpmaxE

ces ,sdne noitcirtser nehw seitiruces erahs evitnecni eeyolpme  elbitrevnoc fo noisrevnoc ro yripxe no deussi seitiru
seitiruces  

 
)a(43 xob dekcit evah taht seititnE  

 
seitiruces fo ssalc wen a gnimrof seitiruces lanoitiddA  

 
 ro noitamrofni eht gnidivorp era uoy etacidni ot kciT

stnemucod  
  

 
53    eht fI +  era seitiruces +  eht fo sredloh tsegral 02 eht fo seman eht ,seitiruces ytiuqe

 lanoitidda +  lanoitidda fo egatnecrep dna rebmun eht dna ,seitiruces +  seitiruces
sredloh esoht yb dleh  

   
63    eht fI +  era seitiruces +  lanoitidda eht fo eludehcs noitubirtsid a ,seitiruces ytiuqe

+ seirogetac eht ni sredloh fo rebmun eht tuo gnittes seitiruces  
 1 - 000,1  

 100,1 - 000,5  
100,5  - 000,01  

 100,01 - 000,001  
revo dna 100,001  

   
73    lanoitidda eht rof deed tsurt yna fo ypoc A + seitiruces  

 
)b(43 xob dekcit evah taht seititnE  

 
83   hcihw rof seitiruces fo rebmuN

+ thguos si noitatouq  
 

   
93   fo ssalC +  hcihw rof seitiruces

thguos si noitatouq  
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04   eht oD +  ni yllauqe knar seitiruces
 fo etad eht morf stcepser lla

 gnitsixe na htiw tnemtolla +  ssalc
 detouq fo + ?seitiruces  

 
 ton od seitiruces lanoitidda eht fI

:etats esaelp ,yllauqe knar  
 od yeht hcihw morf etad eht  
  tnetxe eht  yeht hcihw ot

 txen eht rof etapicitrap
 a fo esac eht ni( ,dnedivid
 tseretni ro )noitubirtsid ,tsurt

tnemyap  
  od yeht hcihw ot tnetxe eht

 ni naht rehto ,yllauqe knar ton
 ,dnedivid txen eht ot noitaler
 tseretni ro noitubirtsid

tnemyap  

 

   
14   noitatouq rof tseuqer rof nosaeR

 won  
 dne ,seitiruces detcirtser fo esac eht nI :elpmaxE

doirep noitcirtser fo  

 
 fo noisrevnoc nopu deussi fi(
 yfitnedi ylraelc ,ytiruces rehtona

)ytiruces rehto taht  
 

 

   
  rebmuN  + ssalC  

24   dna rebmuN +  lla fo ssalc
+  XSA no detouq seitiruces
( gnidulcni   esualc ni seitiruces eht

 )83  
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tnemeerga noitatouQ  
 
1 +  lanoitidda ruo fo noitatouQ +  XSA  .noitercsid etulosba s’XSA ni si seitiruces

 eht etouq yam +   .sediced ti snoitidnoc yna no seitiruces  
 
2 .XSA ot gniwollof eht tnarraw eW  
 

  eht fo eussi ehT +  si dna wal eht htiw seilpmoc detouq eb ot seitiruces
.esoprup lagelli na rof ton  

 
  esoht yhw nosaer on si erehT +  detnarg eb ton dluohs seitiruces

+ .noitatouq  
 

  eht fo reffo nA +  eussi rieht retfa shtnom 21 nihtiw elas rof seitiruces
 )3(707 noitces rednu erusolcsid eriuqer ton lliw  noitces ro  )6(C2101  fo

.tcA snoitaroproC eht  
tne nA :etoN  eb ot redro ni seitiruces eht rof srebircsbus morf seitnarraw etairporppa niatbo ot deen yam yti

ytnarraw siht evig ot elba  

 
  ot ylppa ton seod tcA snoitaroproC eht fo E6101 noitces ro 427 noitceS

 yna ot noitaler ni su yb deviecer snoitacilppa yna + iruces  eb ot seit
on taht dna detouq -  yna nruter ot thgir yna sah eno +  eb ot seitiruces

 eht ta tcA snoitaroproC eht fo F6101 ro 837 ,737 snoitces rednu detouq
 eht taht tseuqer ew taht emit + .detouq eb seitiruces  

 
  sah nosrep on taht tnarraw ew ,tsurt a era ew fI  eht nruter ot thgir eht

+ tcA snoitaroproC eht fo B9101 noitces rednu detouq eb ot seitiruces   ta
 eht taht tseuqer ew taht emit eht + detouq eb seitiruces . 

 
3  yna fo tcepser ni wal yb dettimrep tnetxe tselluf eht ot XSA yfinmedni lliw eW

 ro noitca ,mialc  eht fo hcaerb yna htiw detcennoc ro morf gnisira esnepxe
.tnemeerga siht ni seitnarraw  

 
4  yna fI  .mrof siht yb deriuqer stnemucod dna noitamrofni eht XSA evig eW

 erofeb XSA ot ti evig lliw ,won elbaliava ton tnemucod ro noitamrofni
+  eht fo noitatouq + uces  no gniyler si XSA taht egdelwonkca eW  .snigeb seitir

 dna eurt )eb lliw( era yeht taht tnarraw eW  .stnemucod dna noitamrofni eht
.etelpmoc  

 :ereh ngiS    :etaD 17 4102 rebmetpeS  
  yraterceS ynapmoC  
 
 

 :eman tnirP  uihC ailiceC  
 

== == == == ==  
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 B3 xidneppA – 1 eruxennA  
 

 A1.7 elur dna 1.7 elur rednu yticapac tnemecalp fo noitaluclaC
 rof + seititne elbigile  

 decudortnI 80/10 21/  

 

1 traP  
 

 1.7 eluR – latipac fo %51 gnideecxe seussI  

 tnemecalp eht hcihw morf erugif esab eht ,”A“ etaluclaC :1 petS
 si yticapac detaluclac  

tresnI   yranidro diap ylluf fo rebmun
 etad erofeb shtnom 21 eussi no seitiruces

eussi ot tnemeerga ro eussi fo  

994,863,91  

ddA  :gniwollof eht  

•  seitiruces yranidro diap ylluf fo rebmuN
 na rednu doirep htnom 21 taht ni deussi

 elur ni noitpecxe 2.7  

•  seitiruces yranidro diap ylluf fo rebmuN
 htiw doirep htnom 21 taht ni deussi

lavorppa redloherahs  

•  yranidro diap yltrap fo rebmuN
 taht ni diap ylluf emaceb taht seitiruces

doirep htnom 21  

:etoN  
•  ereh seitiruces yranidro ylno edulcnI – 

sessalc rehto   tonnac seitiruces ytiuqe fo
dedda eb  

•  seitiruces eht )elbacilppa fi( ereh edulcnI
 hcihw ot B3 xidneppA eht fo tcejbus eht

dexenna si mrof siht  
•  fo seussi tuo tes ot lufesu eb yam tI

 etarapes sa setad tnereffid no seitiruces
smeti enil  

 

 

 

 

000,005,7  

tcartbuS   yranidro diap ylluf fo rebmun eht
 htnom 21 taht gnirud dellecnac seitiruces

doirep  

 

”A“  994,868,62  
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”A“ fo %51 etaluclaC :2 petS  

”B“  51.0  

]degnahc eb tonnac eulav siht :etoN[  

ylpitluM  51.0 yb ”A“  572,030,4  

 tnuoma eht ,”C“ etaluclaC :3 petS  1.7 elur rednu yticapac tnemecalp fo
desu neeb ydaerla sah taht  

tresnI   ro deussi seitiruces ytiuqe fo rebmun
 doirep htnom 21 taht ni deussi eb ot deerga

gnitnuoc ton  :deussi esoht  

• 2.7 elur ni noitpecxe na rednU  

• A1.7 elur rednU  

•  redloh ytiruces htiW  elur rednu lavorppa
4.7 elur ro 1.7  

:etoN  
•  sselnu ,seitiruces ytiuqe ot seilppa sihT

 dedulcxe yllacificeps –  yranidro tsuj ton
seitiruces  

•  eht ) elbacilppa fi( ereh edulcnI
 xidneppA eht fo tcejbus eht seitiruces

dexenna si mrof siht hcihw ot B3  
•  yam tI  fo seussi tuo tes ot lufesu eb

 etarapes sa setad tnereffid no seitiruces
smeti enil  

 

 

liN  

”C“  liN  

 gniniamer etaluclac ot ]”B“ x ”A“[ morf ”C“ tcartbuS :4 petS
1.7 elur rednu yticapac tnemecalp  

51.0 x ”A“  

 ni nwohs sa emas eb tsum rebmun :etoN
2 petS  

572,030,4  

 

tcartbuS  ”C“  

 ni nwohs sa emas eb tsum rebmun :etoN
3 petS  

 

liN  

latoT   ]51.0 x ”A“[ – ”C“   572,030,4  

 tnemecalp gniniamer eht si siht :etoN[
]1.7 elur rednu yticapac  
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2 traP  
 

 A1.7 eluR – seititne elbigile rof yticapac tnemecalp lanoitiddA  

 tnemecalp eht hcihw morf erugif esab eht ,”A“ etaluclaC :1 petS
detaluclac si yticapac  

”A“  

 ni nwohs sa emas eb tsum rebmun :etoN
1 traP fo 1 petS  

994,868,62  

:2 petS  ”A“ fo %01 etaluclaC  

”D“  01.0  

degnahc eb tonnac eulav siht :etoN  

ylpitluM  01.0 yb ”A“  058,686,2  

 elur rednu yticapac tnemecalp fo tnuoma eht ,”E“ etaluclaC :3 petS
desu neeb ydaerla sah taht A1.7  

tresnI   ro deussi seitiruces ytiuqe fo rebmun
 doirep htnom 21 taht ni deussi eb ot deerga

A1.7 elur rednu  

:setoN  
•  seitiruces ytiuqe ot seilppa sihT –  ton

seitiruces yranidro tsuj  
•  ereh edulcnI –  elbacilppa fi –  eht

 xidneppA eht fo tcejbus eht seitiruces
w ot B3 dexenna si mrof siht hcih  

•  deussi seitiruces ytiuqe edulcni ton oD
 htiw tlaed eb tsum yeht( 1.7 elur rednu
 ytiruces cificeps hcihw rof ro ,)1 traP ni

deniatbo neeb sah lavorppa redloh  
•  fo seussi tuo tes ot lufesu eb yam tI

a setad tnereffid no seitiruces  etarapes s
smeti enil  

liN  

”E“  liN  
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 gniniamer etaluclac ot ]”D“ x ”A“[ morf ”E“ tcartbuS :4 petS
A1.7 elur rednu yticapac tnemecalp  

01.0 x ”A“  

 ni nwohs sa emas eb tsum rebmun :etoN
2 petS  

058,686,2  

tcartbuS  ”E“  

 ni nwohs sa emas eb tsum rebmun :etoN
3 petS  

liN  

latoT   ]01.0 x ”A“[ – ”E“  058,686,2  

 tnemecalp gniniamer eht si siht :etoN
A1.7 elur rednu yticapac  

 
 
 


